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$OKDPGXOLOODK��SXML� V\XNXU GLSDQMDWNDQ NHKDGLUDW�$OODK�6:7�NDUHQD�GHQJDQ�

UDKPDW�GDQ�ULGKR�1\D�SHQXOLV�GLEHULNDQ�NHODQFDUDQ�XQWXN�GDSDW�PHQ\HOHVDLNDQ�7XJDV�

DNKLU� ³%DQGSDVV� )LOWHU� +DLUSLQ�OLQH� GHQJDQ� 'XPEEHOO� 'HIHFWHG� *URXQG� 6WUXFWXUH�

SDGD�5HFHLYHU�H1RGH%�XQWXN�/7(�)''�����*+]´� 7XJDV�$NKLU� LQL�GLVXVXQ�VHEDJDL�

VDODK� VDWX� V\DUDW� XQWXN� PHQ\HOHVDLNDQ� SURJUDP� VWXGL� 7HNQLN� 7HOHNRPXQLNDVL� GL�

)DNXOWDV�7HNQLN�(OHNWUR�8QLYHUVLWDV�7HONRP�

3DGD�7XJDV�$NKLU�LQL�SHQXOLV�PHQ\DMLNDQ�GDWD�GDQ�LQIRUPDVL�VHSXWDU�WHNQRORJL�

/RQJ�7HUP�(YROXWLRQ��/7(�� SHUDQFDQJDQ�%DQGSDVV�)LOWHU�+DLUSLQ�/LQHPHQJJXQDNDQ�

SHQDPEDKDQ�PHWRGH�'XPEEHOO 'HIHFWHG�*URXQG�6WUXFWXUH��VHUWD�DQDOLVLV�%DQG 3DVV�

)LOWHU� NDONXODVL�KLQJJD�SHQJXNXUDQ�SHUIRUPDQVL�

3HQXOLV� PHQ\DGDUL� EDKZD� 7XJDV� $NKLU� LQL� PDVLK� MDXK� GDUL� NHVHPSXUQDDQ�

NDUHQD NHWHUEDWDVDQ�\DQJ�SHQXOLV�PLOLNL��2OHK�NDUHQD�LWX��SHQXOLV�PHQJKDUDSNDQ�NULWLN�

GDQ�VDUDQ�\DQJ�GDSDW�PHPEDQJXQ�LQRYDVL�SDGD�ELGDQJ�WHOHNRPXQLNDVL�NKXVXVQ\D�\DQJ�

WHUNDLW�GHQJDQ�7XJDV�$NKLU�LQL�

6HPRJD� 7XJDV� $NKLU� LQL� GDSDW� EHUPDQIDDW� GDQ� PHQMDGL� VDODK� VDWX� LQRYDVL�

NHGHSDQQ\D�EDJL�SHQXOLV��SHPEDFD��GDQ�PDV\DUDNDW�XPXP�
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